NTERADHB(HEBERFH
SHE—rhRER—-5A -2 A A
K4
1) ROFRELGESL, (4R X58=20)

1) 612+249-774

2) (213—85)x64

3) 615+41x38

4) (8116—6862)+38

5) (93x68—942)+78



NTERADHB(HEBERFH

SFE—rhERER—58 —2:8— XNBE A

K4

2) ROFEZELLEEL, (4RX5E=201)

1)

2)

3)

4)

5)

5481—(3682+1799)

6115+37%x105

8733+(1012—941)

54%(18%x72)

71—4005--89+74



NTERADHB(HEBERFH

SF—rhRER—58 —2:8— KEE A

K4

3) ROEHEZELGED, (ARX58E=20R)

1)

2)

3)

4)

5)

(7841+3857)+6749

2461—23x%x107

(789+683)+32

29%x(5916+102)

738+(3150—87 % 36)



NTERADHB(HEBERFH
SFE—rhERER—58 —2:8—KIE A
K4
4) ROFEZELLGEL, (4RX5E=201)

1) 10043—4236—5189

2) 62x(48+53)

3) 79112+31+58

4) 73—3358+-46

5) (1153+1097)+(612—487)



NTERADHB(HEBERFH

SFE—rhRER—58 —2:8—-&E A

K4

5) ROFEZELLEL, (4RX5E=201)

1)

2)

3)

4)

5)

1768+ (653+784)

25%X63—938

1517+37+59

239%(104+13)

1768—(18+16) x52



NTERADHB(HEBERFH
SE—PERR—-5A—-248

1) ARE—@E (45 X58) A B

1) 87 2) 13760 3) 570 4) 33 5) 69

2) KIE—MRE (4R x5H) A B
1) 0 2) 10000 3) 123 4) 69984 5) 100
3) KiEg—EE (4R x5%8) A B

1) 18447 2) 0 3) 46 4) 1682 5 4

4) KIE—RRE (4R x5H) A =]
1) 618 2) 6262 3) 44 4) 0 5) 18
5) RE—ME (AR xX58) A =]

1) 3205 2) 637 3) 100 4) 1912 5 0



